Prozentzahlen (fehlende Zahl)

x 30% = 16.5

x50% =6

x 80% = 44.8

x70% = 6.3

x 10% = 3.9

x70% = 12.6

x20% =174

x 90% = 36.9

x70% = 9.1

x30%=5.4

www.snowmath.com

Datum:

x 60% = 39

x 50% = 4

x 10% = 9.5

x 60% = 1.2

x 60% = 58.2

x 40% = 24

% 90% = 24.3

x90% = 51.3

x 30% =21.9

x 20% = 6.6

Ergebnis:
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Prozentzahlen (fehlende Zahl)

55 x30% = 16.5

12 X 50% = 6

56 x 80% = 44.8

9 x70% = 6.3

39 x 10% = 3.9

18 x70% = 12.6

37 x20% =74

41 x 90% = 36.9

13 x70% = 9.1

18 x30% = 5.4

Datum: Ergebnis:

65 x 60% = 39

8x50% =4

95 x10% = 9.5

2x60%=1.2

97 x 60% = 58.2

60 x 40% = 24

27 x90% = 24.3

57 x90% = 51.3

73 x30% = 21.9

33 x20% = 6.6
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